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/**

Thi s exanpl e shows the usage of nanmes between the years 1880-2012.

We represent the data using a filled line plot with time on the
x-axi s and the nunber of babies nanmed the name on the y-axis.

Thi s provi des an exanpl e of picking selective data out of the table.
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**/

/'l These are out here to nake it easier to change the code to | ook
/1 for other nanes

String target Nanme = "Christopher”;

String targetGender = "M';

Tabl e tabl e;

voi d setup() {
si ze( 800, 800);
/1 load the table with data
table = | oadTabl e("nanes. csv", "header");

/[l turn off animation
noLoop();

/**
This is where all of the hard work is done.

W iterate through the table | ooking for rows that match our sel ected
nane and then mapping those to points in the canvas.

We are using begi nShape() endShape() to create a filled polygon for
our final visualziation.
**/
void draw() {
backgr ound( 255) ;
fill(o, 0, 255);
/] Start the shape and nmake an initial anchor point in the |ower
/1 left corner
begi nShape() ;
vertex(0, height);

/1 the findRows() nethod returns a list of all rows that nmatch
/'l the provided field data (in this case, the value stored in targetNane)
for (Tabl eRow row. table.findRows(targetName, " Nane")) {

int count = row. getlnt("Count");

int year = row. getlnt("Year");

String gender = row. getString("CGender");

/1 we are only counting rows that match the same gender
/1 we could sumthe counts, but we would have to do nore work to
/'l store the val ues between rows
i f (gender.equal s(target Gender)) {
/1 map the count and year to a point and add it to the shape
float x = map(year, 1880, 2012, 0, width);
float y = map(count, 0, 60000, height, 0);
vertex(x, y);

}

/1 finish with a final anchor point in the |lower right corner
vertex(w dth, height);

/1l close the shape
endShape() ;



